Y 5:=40 mm J:=10 kg-m”®

1:=1
sg:=40 mm p:=6 mm 1n:=0.9 Ijj,=1A
YA::255 mm Ibl:zllA Mbl::2450 N-.-mm
MR::O N'm
54:=45 mm I, =0.27 A Nieer = 352.57 min "

Clea‘rsym <YB 7J’YA’SBasAvIblaMbl’Ileer’nleer’pa"7>

2 2

K::\/(YB-cos(O)—sB-sin(O)+YA) +(Yp-sin(0) +s5-cos(0) —s,) =295.042 mm

clear,,, (K)
I, —1I M
My, = (Lt = Tcer) Moy =166.682 N -mm
Ibl_ leer
Nyeer 1
Ny ' = — 2 <Mlim_Mbl> =5.476 —

bl s

2 2

a:(t,cp) =K — \/(YB-cos (cp(t)) —sB-sin(cp (t)) +YA> + (YB-sin(go(t))—l—sB-cos (cp(t)) —sA>

substitute , o (t) =,

) d
4 (t,p) Substitute,—¢ (t)=¢, \
dt dt $4°Y e+ cos (o) + 85+ Y4+ cos ()
p

n<t’900ago1>:: '
p-\/sA2 —2ocos<goo>-SA-SB—Z-sin<g00>-SA-YB+SB‘

B(t) = (Yp-cos (1)) —sp-sin(p(t)) +Y,) 54— (Yp+sin (e (t))+sp-cos(p(t)) —54) (Y )

\/(YB-cos (p(t))—sp-sin(e(t)) +YA>2 i <YB-sin(g0(t))+sB-cos (go(t))—sA>2

h(t0) =h(t) substitute,p(t) =@y 5,.V - cos (o) +8p+Y 4+ €08 (Pg) =S4+ 8p+sin (pg) + Y+ Ypesin (¢

2

\/(YA+YB * COS (goo> —8pesin (900>> + <SB° cos (goo> —84+Yp+sin (‘Pc

M....(n.



M (t,pg,1) = if 0 A<, <Iy
if 0<n(t,00,%1) <M

Mlim
else
Mbl
T -n<t,500,g01> +My,
Neer
else
Mbl
= ‘n<t7900a€01> + My,
Nyeer
d 27T .
FA<t7S00’Q0177'>:: T,'M<t7S00?<Pl>'Z
t:=0 s,0.01 5..10 s
tend::4 8
M(t,¢0,p1
I<t,()00,g01> ::—<J,\47,>‘ <Ibl_Ileer> +Ileer
bl
TOL:=10""

icp([} s):(] °

' (0s)=0—
8

} (i) :=odesolve (¢ (t),t.pq)

Gleichungsldser Nebenbedirsghatsmerte

F(@,t) = | fonp — 0 (4)

ftmp (t)

GlelthherysétieguSgkatzwerte
S+
(=]
=%

By
=
ii
ﬁ
=
=
=

T (1)=Fa(t0(8). 2/ (8).) - h (20 (1)) M

check:

toodeq (1) =2.851 s

Nyest = 0

21 —



1:=0.3,0.4..8  No solution is found for values of i lower than 0.29

toodeq (1) (8)

v

#1:=0.5 Guess value

i35 =100t (tgogeq (10) — 3.5 8,14) =0.427

(-]

and higher than ca. 85

o (075)=

toodeq (0.29) =3.987 s

= (i35) (3.5 8)=90° ¢'(3.5 8)=44.633 —
S

A tk:p:_
45

i: 90<tk1
30
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10 s
b o5 1 s 2 a5 s
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t (s)
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I(t,¢(t),¢'(t) (A)
0.5
0.4
0.3
0.2
0.1
0 ()‘.- 1 115 é 215 3 3 r
t (s)
L90deg = toodeg <i3.5> L90deg =39 S
t90deg

[12ver(t,0(t), ¢ (1) dt=33.28 1

0



